
 

 
 

 
 
 

 
 
 

 
 
 

 
 

 
 
 
 

 
 



 
 

 
 

 
 

 
 

 
 

 
 

 
 

 
 

 
 

 



 

 

 

 

 

Solve   the   following   exponential   equations  

22x = 3  122x = 5    13x = 8  

4017x = 2  
 

255x = 6  166x = 2  

3x = 9
1  

 
2x = 1

16  8x = 1
64  



  94 x = 7  
 
 

281 x = 2  18 x = 1
27  

79x = 2  
 
 

61 x = 8   5x = 5√5  

 4x = √2  
 
 
 

9x = 1
√3

 62x+1 = 1  

433x 1− = 2  
 
 
 

32x 1− = 9  4  ( 4
1)x = 6  

 

a) 8x 1− = 2x+2  
 
 
 
 
 
 

b)   1442x+1 = 125x 1−  

c)   53x+1 = 25x+1  d)   4 x+1− = 22x  
 
 
 
 
 
 

e)   64a = 8a+2  f)   2m+1 = 16m+7  
 
 
 
 
 
 

g)   362x = 216x 1−  
 
 
 
 
 
 

h)   3a 7− = 272a  


